H & 0l & AHS B Ml A

[as
g NHIkss He
CHol: BEls) Z2ME XA (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ran=l=FAPSECN, 85,466,390 89,217,785 A3,751,3%
= 7,371,000
Jl 2,700,000
CH 1,300,000
< 74,005,390
NEotsst HE 841,400 317,000 524,400
SEol Z2HE FX 841,400 317,000 524,400
steloll Z2HE =& 517,000 17,000 500,000
201 2egh=3| 17,000 17,000 0
01 At2t2ltl 17,000 17,000 0
Ot Z2RE =& 17,000
308 AHXIEMSOIH 500,000 500,000
18 SIS0t HAS A 500,000 500,000
OXNg=E Jged 33 & AlY 88 500,000
EHEOl Y OHZI(TEALY) 300,000 300,000 0
201 fer= 3| 300,000 300,000
03 &A= 300,000 300,000
O=tgoll =28 JH=l 300,000
RIS E AR E T 24,400 24,400
203 Y2 =X H| 24,400 24,400
03 Al ERIQD =AY 24,400 24,400
ODgYd g2z 3,600
OmEed AIM=A 10,800
Odged slor=d 10,000
INEFae=P 5,825,000 12,180,800 6,355,800
= 300,000
Il 2,700,000
= 2,825,000
MES0C SEAY K& 5,825,000 11,985,000 6,160,000
= 300,000
) 2,700,000
= 2,825,000
MESC =83 AN (SSTAS) (HEALY) 700,000 1,405,000 705,000
403 AXIEHMSAH=201d 700,000 1,405,000 A705,000
01 HXIHHA 22X 700,000 1,405,000 A705,000
OZ2ZE=MZ(1HA) 700,000
MEISC S8t X (FEUMSHE)(013) 2,700,000 2,900,000 A.200,000
Jl 2,700,000
403 AXIEMSA=201E 2,700,000 2,900,000 200,000
Il 2,700,000
01 A= 2L 2,700,000 2,900,000 200,000
O=CHSHE (1HA) 2,700,000




SN REULEIBY
33 NGDEHe
CHol: MEISIC SEBIAIY K| (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | 2,700,000
MESC =83 A (RLUMFHH) (ZS) 300,000 0 300,000
[ 300,000
403 X MSAH=0lH 300,000 0 300,000
= 300,000
01 AR A =2 £ 300,000 0 300,000
O=2IHMSHEH (19HA) 300,000
s 300,000
MEBISC S8at K (ME2SHHE ) (HEAY) 1,100,000 2,150,000 A1,050,000
403 AXIEHHSAH=201H 1,100,000 2,150,000 1,050,000
01 AXIEHM A= 2 £ 1,100,000 2,150,000 1,050,000
OME23HIE (30H4A) 1,100,000
MEISC S8 X (FHXFIE) (HEAY) 1,025,000 4,275,000 A3,250,000
403 MR SHMSAH=0lH 1,025,000 4,275,000 A3,250,000
01 AXISHHA =2 & 1,025,000 4,275,000 A3,250,000
OFAHX=XE(3M L) 1,025,000
M2 &8 8 215,000 85,000 130,000
HEE 215,000 85,000 130,000
S oI =4 215,000 0 215,000
201 2egh=3| 10,000 0 10,000
01 At2t2lt] 10,000 0 10,000
OSH-85 448y oM 29 S 10,000
308 AXIMSOIA 205,000 205,000
07 HXHH2LREES 205,000 205,000
O SEXNLAXH SSsSFH 23
] 205,000
FX K AR 13,429,200 29,730,000 16,300,800
s 7,071,000
CH 1,300,000
= 5,088,200
INEPLE PN 13,429,200 28,992,000 15,562,800
= 7,071,000
CH 1,300,000
S 5,058,200
NS IHE K& 6,728,200 19,791,000 13,062,800
[ 6,721,000
= 7,200
201 2= 7,200 7,200
01 At22t2l] 7,200 7,200
OXNSEEEARS 29E 7,200
403 X SHHMSAH=01H 6,721,000 19,791,000 13,070,000
= 6,721,000
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HB: FOK U TAINE
Rl XSEIHE X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXISHHA =22 & 6,721,000 19,791,000 213,070,000
(OF=F===FSUNEIP/ 1= SN 6,721,000
= 6,721,000
HEXADIBAIE X (HEALY) 4,500,000 9,100,000 4,600,000
403 X SHMSAH=01H 4,500,000 9,100,000 24,600,000
01 AR A =2 £ 4,500,000 9,100,000 24,600,000
OAHEXY JIBtAIE X1 4,500,000
2R 2Acl 1,000 1,000 0
201 et23| 1,000 1,000
02 S3=4gl 1,000 1,000
O=2dgal o3| 1,000
UWEERHYE 28 22X 50,000 100,000 /50,000
308 AtXIEMSOIE 50,000 100,000 50,000
01 HAHHBSEXRS 50,000 100,000 50,000
OUZEERYE 2HEX 50,000
NS 2HE2 Z2A(0AZ) 1,650,000 0 1,650,000
s 350,000
CH 1,300,000
403 X SHHMSAH=01H 1,650,000 0 1,650,000
= 350,000
CH 1,300,000
01 A= 2L 1,650,000 0 1,650,000
OXHHE2 S2AE (Ma2) 1,650,000
[ 360,000
CH 1,300,000
HWREESAE 2 Hast T 500,000 0 500,000
403 AXIEHHSAH=201H 500,000 0 500,000
01 AR A =2 £ 500,000 0 500,000
OUEEIHE 22 43 A 500,000
Hees(Zgedmdx) 65,082,250 46,800,000 18,282,250
WRHAXI S (DS LA F D) 65,082,250 46,800,000 18,282,250
NSZSHUTAE X2 65,000,000 46,800,000 18,200,000
701 JIEtI HSHES 65,000,000 46,800,000 18,200,000
01 JIEtI AN ES 65,000,000 46,800,000 18,200,000
ODELHSEIH HES 65,000,000
INE:PL - PI= U DRSS, 82,250 0 82,250
705 D=3 334 82,250 0 82,250
02 Oll===0IXtatet 82,250 0 82,250
OXIgHeII= o3 Olktat2t 82,250
HH2LIH(ZELEFHY) 73,540 104,985 A31,445
J23H(DELAE ) 73,540 41,985 31,555
Jl2dH(oeed g 73,540 41,985 31,555
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